Mot-TT time diff. hdiff_O

Entries 4993

NN L O L LI L LALLM M ean 2.54

RMS 0.819
3L _
10° E I_L[ E
10° = =
10 = IE

................... R B RN B RN
500 400 300 200 100 O 100 200 300 400 500
diff time [nsec]



Rb-TT time diff.

10°

107

10

1

hdiff_1

Entries

||||| |||||||||||||||||||||||||||||||||\/|ean

RMS

4993

-16.95

4.608

-500 400 300 200 100 0 100 200 300 400 500

diff time [nsec]




Rb-M ot time diff. hdiff_2

Entries 4993

LI L L O LI L LALLM M ean -19.49

RMS 10.04
3 ]
10° £ =
10° £ ~
10 1 E

-500 400 300 200 100 0 100 200 300 400 500
diff time [nsec]



TT spill interval

3.20000008
3.200000075
3.20000007
3.200000065
3.20000006
3.200000055

3.20000005(
0O 1000 2000 3000 4000 5000




